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]ntrocluction to INVTI N9 — vy N3N 9

This final chapter completes the issue of pin 0w — identifying the contexts of liability and exemption. The editors presented the entire chapter of
nvawn before any 803, but, unlike other chapters of 0w presented like this (e.g. ¥ IW1aW X P771D), the rawn are modular; as such, we will
assay each in order, studying the 7ywp and its attendant 802,

28.14.1

112a (8 mywp) > 113b (71721 INR5 I82)

7,7 877130 27PN RIND WRD NN J9Y DT RIND WRY AW DTN 19WN 297 /N2 1279 21707 INAD XY Tein YRk nng Yy .
2,02 72702:1392 ANR VNY) NINKR2 PINR YR ANR RININY 10970 YIR DR ANR ooy .

7,07 22702: 00V YW ANTH TRIN HHR 229 N3 KR N VIR ANTN 105D NYIR NP .

7,07 22702979 AYIS HY ANT NRY MY NRY AP DR PVIYY 1190 IR 91V .

72,25 baprrr:DPT D2 ANYY RY RN N700N RY PIR DR 7Y DR DR 12 .

25,1 eNI2:A0H NI YR YN VAR DYN M NHY) TYR YD .

&,n mex12:090 1DYN PIRD SY M7 DIOR 2P NAN2 IR TWR NRNAD Y2 NRY 7N Y2 NRY NI DR DAYR 151 .
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2,45 1270211 0399 1NV HY 795 101D D23Y MYV THRY NTYER 20T 007 R¥N YR WR N 13TR DR 293901 .

I ’» mwn: exemption for burning nTR 179 “nNan yin” or offering ndYnwnn 1YW outside
a  Source: v. 1 —neither of these is fit to come to 711 YR Nna - exempt
i Analysis of language: nman yn
1 57 there was a place where they burned the nmTxr M that had been checked to ensure no mnn nxkmv
2 Challenge (2112 73): all of »"X is "p11a”; rather nman YN means if he slaughtered it inside the city walls
(a) Question: why doesn’t he just set it as having been slaughtered outside, but not facing Y3°nn nna
(i) Per: ®R"ar1 —juxtaposition of v. 2 (n0nw) and v. 3 (AXRtN) — must be nnan ™3 (v. 3)
(if) And:1nv "7 accepts this wpn, per his ruling about naMw (juxtposition of vv. 3-4)
1. Contra: ®ywir "1 who allows for burning anywhere (outside), per nw1a (v. 4) — wherever it dies...
(b) Answer: he is teaching a less obvious M08 — we would think that since inside the city is closer, he might
agree that it is valid therefore he teaches that even inside the city walls is considered nmn yin
ii ~ Tangent - analysis of dispute 571,771 about status of »’4: whether it is all p11a (>"1) or needs to be checked (")
1  Dispute: whether the %1an affected »"X; based on reading v. 5 —is the 1% part nionn () or declarative (™)
2 Challenge (»15 5”): description of painstaking details of keeping area 770 for nxrvn n
(a) Answer: that was a supererogatory step taken for n19
3 Challenge (515 »”): story of yw1n> '7’s refusal to declare Xnv D9W11 — “where are %120 'np, X711 NN”
(a) Answer: just as 183712121 'nn were real — but were moved; same with %1an 'nn
(i) Question: if they were reinterred, why the nkmv?
(if) Answer: they were removed from ww1v, not from all of ”&
(b) Version: 9" challenged »™ — doesn’t y»1i1? *7's statement prove that %1an »nn were real?
(i) Defense: each is interpreted independently; these were moved, the others were never there
4 Challenge (»775 5™): v. 6 — everyone died (even in »"R) — must be from %1an
(a) Defense: they died from the excessive heat per XTon "1’s homily (vv. 7-8)
(b) Version: ™ challengedy™ with v. 6 — why na3n if it was flooded?
(i) Answer: it was originally n17n, called that to teach, per n™, that the fish weren’t killed
5  Aggadic tangent: survival of huge antelope (oryx) and the nan
6  Note: according to 9", there should still be no remains in X, per n91¥n (or WIV) —
(a) Answer: some remains were nonetheless stuck there and stayed in Land
7 Aggadic tangent: about the land of 913, filled with remains of ancestors
(a) Alternative 7®77. 1w — upturns its wealthy — no more than 3 generations of wealth there
b Analysis of 2" clause: nonwNN VYV
i Challenge (to mwp, excluding per 0’8 nna 58): kn»71 excluding nan 13, in spite of common use of 127p (vv.1, 9)
1 But: nynwnn yw is not excluded due to n”® nna (as it does come there), but from 'n% — not offered to 'n
2 Resolution: before n913n — excluded due to 'nY; afterwards — due to a lack of n”® nna
(a) Challenge: even after N9, it remains inside until »m™
(b) Rather: until 1, excluded due to 'nY; after »7v, it is no longer fit for n”® Nna
(i) (note: before n%n, should be 27n, as it is potentially fit for 'n — maoin)

www.dafyomivicc.org 89 © Yitzchak Etshalom 2011




